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1999 Function: Asymmetry
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1999 Function: Halfring Fits -- Asymmetry
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fCBO Droop Lifetime, 1999-Style Function
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R(fCBO fixed) - R(fCBO free): 1999-Style Function
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R(fCBO fixed) - R(fCBO free): Full Physics Function
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Full Physics Function, Start Time = 31.8 µs
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1999 Function, Halfring Fits, Set A
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1999 Function, Halfring Fits, Set B
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1999 Function, Halfring Fits, Set B
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1999 Function, Start Time = 31.9µs, Period A
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1999 Function, Start Time = 31.9µs, Period A
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1999 Function, Start Time = 31.9µs, Period B
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1999 Function, Start Time = 31.9µs, Period B
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Physics Function w/o Phase Modulation, Sum of Detectors, Period A
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Physics Function w/o Phase Modulation, Sum of Detectors, Period B
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Physics Function w/o Phase Modulation, Sum of Detectors, Period B
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Physics Function w/o Phase Modulation, Halfring Fits, Set A
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Physics Function w/o Phase Modulation, Halfring Fits, Set B
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Physics Function w/o Phase Modulation, Halfring Fits, Set B
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Physics Function w/o Phase Modulation, Start Time = 31.9µs, Period A
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Physics Function w/o Phase Modulation, Start Time = 31.9µs, Period A
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Physics Function w/o Phase Modulation, Start Time = 31.9µs, Period B
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Physics Function w/o Phase Modulation, Start Time = 31.9µs, Period B
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Full Physics Function, Halfring Fits, Set A
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Full Physics Function, Halfring Fits, Set B
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Full Physics Function, Start Time = 31.9µs, Period A
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Full Physics Function, Start Time = 31.9µs, Period A
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Full Physics Function, Start Time = 31.9µs, Period B
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Full Physics Function, Start Time = 31.9µs, Period B
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Full Physics Function, Start Time = 31.8 µs
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1999 Function: Halfring Fits -- Asymmetry
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Full Physics Function, Start Time = 31.8 µs
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1999 Function, Halfring Fits, Set A
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1999 Function, Halfring Fits, Set B
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1999 Function, Halfring Fits, Set B
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1999 Function, Start Time = 31.9µs, Period A
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1999 Function, Start Time = 31.9µs, Period A
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1999 Function, Start Time = 31.9µs, Period B
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1999 Function, Start Time = 31.9µs, Period B
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Physics Function w/o Phase Modulation, Sum of Detectors, Period A
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Physics Function w/o Phase Modulation, Halfring Fits, Set A
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Physics Function w/o Phase Modulation, Halfring Fits, Set B
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Physics Function w/o Phase Modulation, Start Time = 31.9µs, Period A
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Physics Function w/o Phase Modulation, Start Time = 31.9µs, Period A
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Physics Function w/o Phase Modulation, Start Time = 31.9µs, Period B
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Physics Function w/o Phase Modulation, Start Time = 31.9µs, Period B
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Full Physics Function, Sum of Detectors, Period B
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Full Physics Function, Halfring Fits, Set B
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Full Physics Function, Start Time = 31.9µs, Period A
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Full Physics Function, Start Time = 31.9µs, Period A
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Full Physics Function, Start Time = 31.9µs, Period B
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Full Physics Function, Start Time = 31.9µs, Period B
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